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10,320@ * 1@ » 12A12 = 128 * 150% 2,230
Jl=&l 168,230 169,770 A 1,540
Jl2234 168,230 169,770 21,540
201 Let24d] 97,170 102,701 A 5,531
01 At 22l 34,792 38,077 A 3,285
O LBt==ZHl SHA & 16,116,000& * 14 16,116
O =t SHAL 18,676,000 » 14 18,676
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14,940,000& * 14 14,940
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O Xtg - &a2dl SHA A 31,238,0008 14 31,238
202 O4dl 59,400 61,709 A 2,309
01 = LH 4 1l 13,800 16,109 A 2,309
O BAN2E SUAHY 13,800,000 * 14 13,800
02 2N 45,600 45,600 0
sEXNEHZ2R 200,0003 * 198 « 123 45,600
203 YR =&l 4,200 4,200 0
04 EANSIHRF=EHI 4,200 4,200 0
O sEXEW(HA 23Y) 350,000& = 12& 4,200
405 RHoHE S HI 7,460 1,160 6,300
01 AL EFFH S 7,460 1,160 6,300
O AM2R4a HIIHE 7 7,460
o ANRE HA(HY) 170,000& * 144 2,380
o ANRE HAM(EEH) 230,000& = 404 920
o OlsME& 180,000& * 2204 3,960
o o Xt 200,000& * 1K 200




